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tntegiated eireuits Tarmed the main innoviian in the
ol camputers
A, First genaraiion
B.  Second gengration
C, Third generation
0. Fourth generation
The aeranym 1SP stands for
A, Infannation serviee provider
B, Intemst servies provider
€. Ipformation system proyider
L. Internet sysiem provider
Ruring encryption the ariginal text is changed to
4. Cipher lexd
B Hlaintsx
€. Clgartayt
B Textiile

The ALU of the CRU gets data directly from the
4. Primary memory

Coatral unit

Estermal memary

Regisicrs

.
»

R

Daisy wheel pripter is a type of'a(n)
A,  Non-impagt printer
B.  lipast printgr
C,  Laser priptor
B, Mainix pripter

The sytbal below represents the ___ logie gate:

Ly
A, OR
B, HNOR
C. MOT
. X-0OR

The coding scheme which represcnts chasagters using
g bits is the

A, BCD
B. ASCH
C, BC

D, EBCDIC

The undetlined  portions » of the emgll address
chotjuhnny@minessc.em are vespectively referred to
3!

A.0 Employee 113 and Work ID

B, User ID and Work 1D

C, User (D and Damain Name

0. Employee 1D and Domain Name
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9. Iptranct could be detingd as network that is
A, designed tp serve seyeral organizations
B, dgsigned for an organisation and: cannol be
accessed by others .
C, designed fur an organisation but others can

have access to
0, used lo serve monagers and personuel of ay
organisation ——
10, An example of the file extonsion for a sound file is
A jpeg
B, .way
C. axt

i html —
11, To prevent spam from entaring your blog, usea
A. Password
B. Usemame
C.  Word verification phrasc
P, PIN
12. The term “data type™ refers o sefs of
A,  Valuesavariable can ussume
B, Characters
C. Integers of real numbers
R, Valugsin a fisld
13, Efficiency of saftware refers to the ability to
A. apprapriately use memory and time
I3 give expected results
€, recover from minor input eerors
D, functien correctly in different platforms
14. A person who manages the dcvc!aplnéﬁ?‘f)_f”sdﬁwuré
is known as a
A.  Programmer
B,  Software designer
C.  Software unalyst
D.  System analyst
15, A program that reads and executes source cordes o
line at & time and does not produge executable files
that can run independently is called a
A, Compiler
B.  Interpreter
C.  Assembler
. Decoder
16. A good algorithm should be unambiguaus. meaning it
should
A. Beable to tell when an error is made
B, Be consistent in what il does
C. Have the same interpretation by everyone
D. __ Have u starting and on ending instruction =
17. The feasibility stage of & SDLC invoives T
A,  Purchasing new hardware
B, Training usgrs an using the system
€. Testing software that will be used
D.  Estimating the cost of sofiware und hardware

Qgy and shodg o
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Ve A Ciannt chart sypically represents the nroject's
&, Estimatel bydget
B, Risk faetars
C.  Critigal paih
., Milestangs
19, Datu capturs is the progess of
A.  Callecting data
B Converting data 1o electronic form
€. Gathering disfa
R, Aequiring data
20. A LAN I connzeted to the Internct by 3
A, Maodain
B Repegier
C, Router
B Switely
21. Qpereting  systems, cditors and  debuggers  are
examples af
A, Bystem spfiware
B, Appligation sefware
C,  Utilities software
0. Frogramming seftware
22, The number of bils in a byte 15
A' 3

B4
O
5

T
L

—— is a charaeteristic of RAM,
A& Vintial mamary
B, Valatile memory
C, Non volatile memory
B Ceghe memory
Which of the following 18 NOT a servies on the
Interngt?
A Ewail
B Qnline business
C,  wwy
B, prosogol i B
25. A graphical representation of an-object in order to
assess a real life sithation is called
A, Modeling
1. Simulstion
C,  Algorithin
0. < Matotyping
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26. Carpal Tunngl Syndrome is likely to be cansed by
A, Pralonged use of the computer keyboard
ji% Cgmi, uous staving of the computer monitor
€. Roor lighting of the computer room
D, Boar adjustment of the computer user’s chair
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27. The Logic Unit of the CRU
A.  Produces resulis
B, Coinpares values
€. Conlrals the flpw of informatian
D,  Dogs arithmetic works
28, Programs permanently stored in ROM are examplc's;'
of .
A,  Hardware
B, Sofiware
€. Firmware
D, RGM warg
29, Which of the following can function without 2 driver).
A.  Digital camery
R, USB flash
C,  Prinler
D, Motherbaad
30, The binary equivalence ofhe octal pumber 15is
A 1111

B, 10l

C.  0l0l

D. 0l

31. The oclal€quivalent of the binary numbsr 100116011

is

""Qr ‘162

B, 463

C. 460

B 461

32, Which one af the following can be used to control the
availability of sites on the Internet?
A, Plug-ins
B, Tilters
€, Frp
D, Spam
33. The acronym ERCLIC stangs far
A.  Extended binary coded deeimal interchange cods
B, Extendsd bit code decimal interchangs cods
C. Extended binary case decimgl interchange code
D, Extended binary bit case degimal interchange code

34, Que way to preveni an imiruder info & compuier-
system in a netwaork is by usc of

A, Hacker-proof programs
B, Tirewalls
C.  Hacker-resistant sgrvers
D.  Access privileges

35, An example of a software suit is
A,  Windows XP
B.  Ms publisher
C. VWindows
D, Msoffice
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36. The wast apprapriate software used to ksep all
necessaiy information sbaut students is the
A.  Word progessor sofowvare
B, Bpivadsheet software
C,  Rygsgniation software
D.  Database management spfiware

37. In & word processor, autamatically indenting and
adding hyperlinks is possible using
A, Auio formai
B Auip crrgei
€, Smiod tag
0. Typing wizard

38, The computing erime that sameong collects personal
infoumation and peses as another person is
A Spacling
B Spoofing
¢, Harking
. Identity thel
39, Any attempt by individuals to obtain conhdential
information by falstiying their identity throngh emails
is galled
A.  Bhishing trips
B, Spamming
C.  Spywire sgamy
B, Phishn M SCAMS
40. The communication medel that supports tw away
traffic but can only operate in ane direction af a time
| is said fo ke
| & Synchronous
3.  Asyuchronpus
C,  Hali=duplex
R, Dupicx

Questions -’H .mcl 42 are based on the following nlgorithm.

1. SetsumtoQ
Set i3
Setxaa f
iVhile x<=N
Set s to sun - X
Setxfax + 7
Endwhile
Priné sum
41, What programming construgt is used in ling 47
A.  Buanch
B, 8Sequence
C. lopp
B,  Recursion
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43, The thres cansiraints of a prajsct are
A, Scops, task and work
B.  Scope, maney and task
C, Scape, timeand cost
D, Scope, time and task
44. The statement “Enter the vaiue of N” should be
placed in whigh of the following symbols?

P

IO v

O 2

42, What ia the output uf the algorithm?
A,
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45, Completely discarding an old system before installing
a new system is referved to as
A.  Piecemeal implemgniation
B.  Plupgeimplementation
C.  Waterflliimplementation
D. <Model implementalion Jpp—
46. What is the appropriate name given (o a task that can
only begin when gnother task has finished?
A.  Dependent fask
B, (Pregdecessar task
C.  Sugeessor fask
D,  Mileslone
47. Multiplexing chasingls duta from
A.  Single path ta multiple channcls
B. Single path to single chaune!
€. Multiple paths {0 multiple chianngls
D, Multiple paths to single chqnn-..ls
48. One societal problem that arises because of the
computer network is
A, Client-server computling
B.  Resource sharing
C, Cosunynications speed
ji Privacy issues
49, The network mpolbg fil bas o central switch or hub
is callgd
A, Busiopology
B, Ring topalogy
C.,  Star lppology
i1, Mesh topology.

50, A malicions code that uses soenrity loopholes in &
system to replicate itself is known as
A, Worm
B.  Threut
C. ‘Trojan horse
R. Virus
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